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QUESTION 1

What is one feature of the IBM API Connect capability? 

A. Provides a robust set of enterprise-grade API management capabilities 

B. Provides security, control, integration, and optimized access to APIs 

C. Build integration flows with pre-built connectors for SaaS products and APIs 

D. Access, transform, and combine data assets across all of your enterprise applications, databases, and systems, with
the capability to expose them as APIs 

Correct Answer: D 

 

QUESTION 2

Which two technologies can be used to extend the DataPower Gateway processing behavior? 

A. XSLT 

B. JavaScript 

C. Python 

D. C# 

E. Java 

Correct Answer: CD 

 

QUESTION 3

Which statement describes Tekton? 

A. It is an integrated OpenStack program which aims to provision bare metal machines from the OpenShift Container
platform 

B. It is a Block Storage service for providing volumes to virtual machines, bare metal hosts, containers and more 

C. It is an Open Source project that allows provisioning, managing and running virtual machines from and within
Kubernetes environments like OpenShift 

D. It is an open source project that provides a framework to create cloud-native CI/CD pipelines quickly 

Correct Answer: C 

 

QUESTION 4

Latest C1000-093 Dumps | C1000-093 VCE Dumps | C1000-093 Exam Questions                                2 / 4

https://www.geekcert.com/c1000-093.html
https://www.geekcert.com/c1000-093.html
https://www.geekcert.com/c1000-093.html


https://www.geekcert.com/c1000-093.html
2024 Latest geekcert C1000-093 PDF and VCE dumps Download

An architect needs an agnostic provider of persistent storage for their OpenShift Container Platform, that supports file,
block, and object storage, either in-house or in hybrid clouds, Which provider should the architect choose? 

A. HostPath Storage 

B. Red Hat OpenShift Container Storage 

C. FlexVolume Drives 

D. OpenStack Cinder 

Correct Answer: A 

 

QUESTION 5

What is the correct order to configure TLS profiles for an API\\'s access and encryption? List the API Connect
components to be configured, from the first to the last one. 

Select and Place: 

Correct Answer: 
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